n1= MPayment [p_, k_, apr_]:=NModule[{r, n, m}, $RecursionLimt =k +1;
r=(Q+apr)®(1/712) -1; m=m/. Solve[p (L+r)*k-m((L+r)*k-1)/r =0, m[[1]];
Print ["Loan anpbunt = $", p, "\tAnnual interest rate = ", 100 apr,
"%\tDuration of loan = ", k, " months"]; Print ["Monthly payrment = $", m]; Print[
ListPlot [Table[{n, p (1+r)*n-m((L1+r)"n-21)/r}, {n, O, k, 1}], I mageSi ze - 600,
Joined » True, GidLines » {Table[121, {I, 1, Floor [k /12]}], Autonatic},
AxeslLabel - {"nonths", "anount owed"}, BaseStyle - {14, Bol d}, Ticks ->

{Table[121, (I, 1, Floor [k 7 12]}], Automatic}]]; Print ["Total paynment = $", km]]
n2;= MPaynment [200 000, 360, .05]
Loan amount = $200000 Annual interest rate = 5.% Duration of loan = 360 months

Monthly payment = $1060.11

amount owed
200000
L \\\\
150000
100000
50000
months

1224364860 72 84 96108203244 50 68 80 920£212224@5262 7283031 328334360
Total payment = $381640.



